
1re ES Second degré Calculatrices

Programme pour une casio :
"CALCUL DISCRIMINANT :"
"AX 2 + BX + C"
"A" ?! A
"B" ?! B
"C" ?! C
"DELTA=" :B 2 � 4 � A � C ! D
D=0) Goto 1
D<0) Goto 2
D>0) Goto 3
Lbl 1
"UNE SOLUTION"
� B=(2 � A)
Stop
Lbl 2
"AUCUNE SOLUTION"
Stop
Lbl 3
"2 SOLUTIONS"
"X1=" :(� B � p D)=(2 � A)
"X2=" :(� B + p D)=(2 � A)
Stop

Programme pour une TI :
PROGRAM :DEGRE2
Disp "CALCUL DISCRIMINANT :"
Disp "AX 2 + BX + C"
Prompt A,B ,C
ClrHome
B 2 � 4 � A � C ! D
Disp "DISCRIMINANT",D
If abs(D )=0
Then
Disp "1 SOLUTION",� B=(2 � A)
Else
If D > 0
Then
Disp "2 SOLUTIONS"
Disp (� B � p (D))=(2 � A)
Disp (� B + p (D))=(2 � A)
Else
Disp "PAS DE RACINE"
End
End
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